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5 XHAME

5.1 XHEHEME

SO I B2 0 3R AL S B DT R 6 N G R AR LR 2,
K2 XHEEHIETZTEARRESHBEBLHTNXR
. . XoF Iz ) B 4
T4 3 61 5 43 o
TCHRIRAF
realmCode 1..1 Ho AR L "CN" AR 3 [
SCRY R R, B4 : @root="2.16.840.1.113883.1.3",
typeld 1..1
@extension="POCD_MT000040"
templateld 1..1 CRYEL AR 4 5 OID, Htp @root="2.16.156.10011.2.1.1.34"
d 1 AR S AR, Hf @root="2.16.156.10011.1.1", Tfij H. &
i .
B (8 B L7 A2 B . 9T B T id/ @ extension HH
JH U B SR SR By 2 A o @ code="C0014 ",
code 1..1 (@ codeSystem="2.16.156.10011.2.4",
@codeSystemName="TI 4 {5 B L= R i id A R "
title Lol | SCRY AR AL Sy« Ff 7 30 5%
effectiveTime 1..1 SCRY AL A A R ]
SO R AR P i
. . @code="N", @displayName=""T1F & 1Jj [ {f % 57" ,
confidentialityCode 1..1
(@ codeSystem="2.16.840.1.113883.5.25",
(@ codeSystemName="Confidentiality"
languageCode 1..1 SCRYTE F A G hG, Hop 8 - @ code="zh-CN"
setld 0..1 XREEGS  HUGBEBITRK . HEHRREAHSI™E
versionNumber 0..1 SCRY A 5
5.2 55HEME
Z: 53 02 4 B 5 58 0 X R ¢ R IR WL AR 3.
xk3 SEFEARZEARRESHBEBINNNXER
. ) N X I ) B A
JLE AR HA Vi 55 i e
TCARIRAF
SCAS I 57 kT G Bl Al R R A X 2, Horb Bl
recordTarget 1..* | @typeCode="RCT",
(@ contextControlCode="0OP"
|--patientRole 1.1 | & A, Hp b [ @classCode="PAT"
, A BE SRR, HA 54 @ root="2.16.156.10011.1.12",
|| —id 1.1 , DE01.00.014.00
1M B 4 5 B T id/ @ extension H
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F 3 (&)

B . . \ Xof o7 119 A
PI FeA I RSE i e
TCARIRAF
HBENNEAE L, 4 i @classCode="PSN" ,
|--|--patient 1..1
@determinerCode="INSTANCE"
BH G E SRR, g (A
[--]—|--id 0..1 | @root="2.16.156.10011.1.3" , T E{& f % = & T DE02.01.031.00
id/ @ extension H1
[---[--name L.« | BEESH DE02.01.039.00
|—|—|-—-age 1.ox | 4E1% DE02.01.026.00
SCRYBIEE B8 : @typeCode="AUT",
author 1.. %
@ contextControlCode="0OP"
|—time 1..1
|--assigned Author 1.1 | $5E0MEE B {H : @classCode="ASSIGNED"
o 1 Ve B ME—FRIRAT  Hof @root="2.16.156.10011.1.7",
|1 o X
T EAK 1 45 5 8 T id/ @ extension H1
|--|--assignedPerson 1..1
[--|--|--name 0.1 | EAEMA DE02.01.039.00
custodian 1.1 | XHEBEYMAER ., P ba H@typeCode="CST"
| -assignedCustodian 1..1 | B4 {8 : @classCode="ASSIGNED"
. . eIk 1 BTG R SCRS I R4S e 9 L LA, o
|--|—-representedCustodianOr- )
o 1..1 | @classCode="ORG" ,
ganization
(@determinerCode="INSTANCE"
SO PR B BT ML AR R, o
|—|—|—id 1..% | @root="2.16.156.10011.1.6" , T E4&K i 4 = & T
id/ @ extension H1
[--|--|--name 0.1 | {RENA IR
authenticator lox | "HREAEEES L
[—time 0..1 | &4 H /1) H
| --signatureCode 0..1 | L WRERE
|--assignedEntity 0..1
i o1 £ % N B ARiH, Hop @root="2.16.156.10011.1.4",
- |--i .
@extension=""1[& % A\ 01 45"
|- |--code 0..1 | B, @displayName="7"F2£ K & & "
|--|--assignedPerson
[--|--|--name 0.1 | B8 \lk& DE02.01.039.00
authenticator l.x | IEFAEH
[—-time 0..1 | 24 HH /6
| --signatureCode 0.1 | B4 RSN
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F 3 (&)

— " . . POp AR €It
PI L I RSE i e
TCARIRAF
|--assignedEntity 0..1
i o1 [ % A BUFRIR, Hoh @ root="2.16.156.10011.1.4",
— |1 .
@extension="[E % A\ G 45"
|—]--code 0..1 | Hrf,@displayName="4 5 "
|--|--assignedPerson
[--|--|--name 0.1 | &4 Nik4 DE02.01.039.00
participant 1..* | BRE ANV E : @typeCode="NOT"
|--associatedEntity 1.1 | R&5#&
|- —telecom I & N\ B 515 DE02.01.010.00
. H kg {H @classCode="PSN",
|- |--associatedPerson
(@determinerCode="INSTANCE"
[--]-[-name IS PN T DE02.01.039.00

5.3 XEXEBNEME

IR B 28 70 2R A B 5 s DG A X I O AR A IR L 4

R4 XREPIETRERRESHETHIMX R

B ) i X 0 1 K
JLER AR HAL PIUIRSETBE e
JCRRIRAF
ACSCRE B RIB AR 5 AU T A B R R, B S H
relatedDocument 0.. % B AL SCAY AH A5 B o 5 T 38 B A K B 7 SRS A L I SO K A
PIEPs)
| —-parentDocument 1..1 AL SCRY
|- |-id Lox | ACSCREBRIRAF
|- |-—-setld 0.1 | XHEFI5
|--|--versionNumber 0..1 Y IR AR 5
componentOf 1..1 Wiz
|--encompassingEncoun- n
ter -
|- effectiveTime 1.1 FIREing L]
||~ location 1.1
|--|--]-- healthCareFacil-
) 1..1 Hodr 45 B @ classCode="SDLOC"
1ty
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x4 (&)

- " N XoF I ) B 4
YL A B 543 LI
TCARIRAF
|--|--]--]--servicePro- . PLH £ €8, H b @ classCode="ORG",
.. %
viderOrganization @determinerCode="INSTANCE"
|--[--]--|--[--asOrganiza-
1..1 H 4 {H @classCode=" PART "
tionPartOf
|—|-—]-]—]|—|—-who- = iR S, H P B4 ] @classCode="ORG" ,
leOrganization h @determinerCode="INSTANCE"
’ HrhBs i @root="2.16.156.10011.1.22" , HL& (& {# 77 1E
Sy e 1.1 DE01.00.026.00
id/ @ extension H
el =~ name | L1 | kS
|~ || ~asOr- ] o
1. = WS . i @classCode="PART
ganizationPartOf
Sy . Hod i @classCode="ORG" ,
|--wholeOrganization h @determinerCode="INSTANCE"
o | ||~ |~ 5 B3 BRI P B @root="2.16.156.10011.1.21" ,
1..1 DE01.00.019.00
|—id ELRMEAF A id/ @ extension Hf
|~ ||~ ===~ .
1..1 o
|--name
el | R S i
.. %
|--asOrganizationPartOf @classCode="ORG" ,determinerCode="INSTANCE"
e e e e e e e FHE R R AF  H 4 i @ root="2.16.156.10011.1.26",
1..1 DE08.10.026.00
|--id B R{H A AL id/@extension
IR \
.1 | BFE&K
|--name
[
L1 | WX AR s [ @classCode="PART"
|--asOrganizationPartOf
R Rl B B e e e e L #1488 @ classCode="ORG",
|-- | --wholeOrganization h @determinerCode="INSTANCE"
Sy ey ey ey . 95 X AR IRAT B8 M : @ root="2.16.156.10011.1.27" , H.ik {4
.. %
|- |- |-—-id FRAFAE id/ @extension H
= =l |~ = ==~ -
1..1 W5 X 44 Bk DE08.10.054.00
|--|--]--name
B
|--|--]--asOrganizationP- 1..1 25 Bt » i 4 {H @ classCode="PART"
artOf
e = .
H 4 {H @classCode="0ORG",
|--|--|--|--wholeOrgani- 1..1 }
) @determinerCode="INSTANCE"
zation
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x4 (5D
PO AR
e R S EETI LA
TCARIRAF
=l | BRI S B @ root = "2.16.156.10011.1.5" AL
| |—|—|—]—id h PRAY A BT AE id/ @ extension H
R e R R B
| e L.ox | ERARK
|~ =|=I~I-name
6 XHEERE
6.1 XHEEETHK
SCRY AR FE TR B LR 5,
F 5 NHEEETHEA
AT PR KA AN i &
T B B e S 2 1.1 R W R 27 5 B
A i A AE Y 1.1 R 0 A A A R E(E B
B 3 o 255 0..1 R2 R BETE AR B
P R A 1.1 R RET IR & RS %= X =05
Ab ) 2 1.1 R oSk AL BRI B
6.2 FERROIAET
6.2.1 FERREABAETHK B
2 A R IR] R T SR H A L 6.
*6 FERROBETZEEK
% HAR HAL 2 £ B
77 H WA [a] 1.1 R FEIEBEATE 5 B I 2 T 28 4R H R E (8] 1) 58 3 i R
ZER 1.1 R TR PR KB SR AL e AL AR IR L 3 B A IR
) PRI SR L AE 28 B JE il X R A ik 2 it
a2/ 1.1 R
1k
KA AW 1.1 R AWHLE HIWAICLF H W58 5 i b
oS A wiw ] 1.1 R 324 R I A 23 20T
WA 2 I T A 1 4N T 2 11 1t
o . R A= AR KA 2| H S W= WA T2 4 H I
56 AR
7RI R A R 1.1 R PR 22 ) B R S BT AR A AR AR

6




WS/T 500.14—2016

%+ 6 (20

XEAW FEL AR iR
IR K I O 1..1 R IR S VR IK % (- RV LN E 41 BTG
I YR R A R A 10 1.1 R XoF 72 0 WP ORI R R R I 00 D T A A 3R
6.2.2 FERROBVEDITEAR
FEARFRE R R T TRARINE 7,
x7 FERROBETTEAK
. ) N POpVAINEA €I
PV J& A PR UL RSE BoS .
TCHR A
component Ifﬁ%%lﬂ@%%*ﬁﬁ%ﬁ?
| --section
Hd,@code="11450-4",
(@displayName= "Problem list",
|- |--code 1..1 | R
@codeSystem="2.16.840.1.113883.6.1",
(@ codeSystemName="LOINC"
— A
|- [—entry R B R 4 H
. HoA e i, @ classCode="OBS",
|--|--|--Observation
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
|~ ]~| | —code 1.1 [ R| e DE06.00.197.00
@codeSystemName=" T4 {5 &5 c H #"
[—]-—]-—]-—value 1.1 | R | Hi, @ xsi:type="TS"
|- |—-entry PUAH
H k4 H . @classCode="0OBS",
|—]--]—-Observation
@moodCode="EVN"
Hh, @codeSystem="2.16.156.10011.2.2.1",
[—]--]-]--code 1.1 | R . . DE04.01.108.00
@ codeSystemName=" T4 {5 & % #i c H %"
[-]-]--]-value L.1 | R | B, @xsi:type="INT"
|- |-—-entry PP H
. H 4 E , @classCode="0OBS",
|--|--|--Observation
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
| =] ~| | —code 1.1 | R R DE02.10.002.00
@codeSystemName=""T A4 {5 B & H F"
[--|--|--|--value 1.1 | R | Hrf,@xsi:type="INT"
- U 2 H 4
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F7 (&)

. , " N POF AR €I
TCE £ R J& H FE PR SR L
TEAR RS
, Horh B8 B . @ classCode="OBS",
|--|--|--Observation
@moodCode="EVN"
Hr, @codeSystem="2.16.156.10011.2.2.1",
|~ ]|~ | —code 11| R AR DE02.10.051.00
@codeSystemName=""T 4 {5 B & c H F"
[ |--|--|--value 1.1 | R | Hrf,@xsi:type="TS"
|- [—entry ZE AN &R
H 4 . @classCode="OBS",
|--]--]--Observation )
@moodCode="EVN"
H i, @codeSystem="2.16.156.10011.2.2.1",
[—[-|--]-code 1.1 | R ] DE06.00.261.00
@codeSystemName=" T4 {5 & 5% c H #"
Hp, @xsi:type="CD",
[--|--|--|--value 1..1 | R | @codeSystem="2.16.156.10011.2.3.2.44",
@codeSystemName="JE XL FHK"
|- |--entry W& E
} Hrp gl , @classCode="0OBS",
|--|--|--Observation
@moodCode="EVN"
H i, @codeSystem="2.16.156.10011.2.2.1",
||~ |~ | —code 11| R e DE05.10.098.00
@codeSystemName=""T A4 {5 B % #Ec H F"
[-=|--|--|--value 1..1 | R | Hp,@xsi:type="TS"
I——‘f—cntry Fﬁﬁﬁﬁ*ﬁiﬁg%a
Hop 48 16 . @ classCode="OBS" ,
|--]--]--Observation )
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
||~ |~ |—-code 11| R | e DE04.10.013.00
@codeSystemName=" T4 {5 &5 c H #"
[--|--|--|--value 1.1 | R | v, @xsi:type="BL"
[--|--entry R IE SR A T RV |
H 4 H . @classCode="OBS",
|—]--]—-Observation
@moodCode="EVN"
Hh, @codeSystem="2.16.156.10011.2.2.1",
| =] ~| | -code 11| R " - DE05.10.161.00
@codeSystemName=""T 4= {5 & £ #5c H %"
[—]-—]-]-value 1..1 | R | Htp,@xsi:type="ST"
|- [-—-entry MR IR AR R 4% H
A Hrh B8l @classCode="OBS",
|--|--|--Observation
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
|~ ~| | —code 1.1 | R AR DE05.10.070.00
@codeSystemName=" T4 {5 &5 c H 7"
[--|--|--|--value 1.1 | R | Hr,@xsi:type="ST"
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6.3.1 AEMEEETZBEHK
Az i PR AE 7295 5% H A B 8,
®8 AMBEMEETEEHRK
% HAW AL 2y EiBa
ZHi R E / kg 1.1 R2 FE YA 2 AR T A I A O ke
B /cm 1.1 R 7R A B ) R R AR cm
FEHT AR kg 1.1 R P4 A EE DU A R A kg
K% H 1..1 R W4 R/ &F i He B0 1R, T 3 PR O mmHg
PR/ C 1.. R AR B 0 A R B R °C
Jik 2/ (K / min) 1..1 R S8 B b KR O B I R T AR B K/ min
W W 431 %2 / (K / min) 1.1 R 8 BN B[] P P I R B I A T B A IR/ min
6.3.2 EGMEEETTEAK
A A RAE T TR AL 9,
R AEMEEETTEARK
. . N POPIA R &
TR AT e s e 1 554 I
TCHRIRFF
component M R AE B TR OT R
|—-section
Hrp, @code="8716-3",
@displayName="VITAL SIGNS",
|- |--code 1..1 | R ]
(@codeSystem="2.16.840.1.113883.6.1",
@ codeSystemName="LOINC"
|J\~text J\ii%ﬁﬁ
[--|--entry ZRi R E (kg) % H
H 4 {H . @classCode="OBS",
|—]--]-—-Observation
@moodCode="EVN"
Hp, @codeSystem="2.16.156.10011.2.2.1",
|- |--|--|--code 1..1 R - DE04.10.188.00
@codeSystemName=""T 4= {5 B 5 ICH 7"
[--|--|--|--value 1..1 | R | Hp,@xsi:type="PQ", @unit="kg"
|- |--entry BE(m)%H
. H A HE, @classCode="OBS",
|--|--|--Observation
@moodCode="EVN"
H . @codeSystem="2.16.156.10011.2.2.1",
[—|—|—|-code 1.1 | R| o _ DE04.10.167.00
@codeSystemName=""T 4 {5 B HHEICH "
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Fz 9 (&)

B , N N POF AR €I
TR LR J& H FE PR SR L
TEAR RS
[—]--]--]--value 1..1 | R | Hip,@xsi:type="PQ",@unit="cm"
[--|--entry FERT R E (kg) 45 H
H PB4 {H . @classCode="0OBS",
|—]--]—-Observation
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
[=[--1-]--code 1.1 [ R o DE04.10.188.00
@codeSystemName="T 4 {5 B ICH F"
[—]—]-—]-—value 1..1 | R | Hp,@xsi:type="PQ",@unit="kg"
|--|--entry WA= 55 H
) Hrp g {E , @classCode="0OBS",
|--|--|--Observation
@moodCode="EVN"
Hrpr, @codeSystem="2.16.156.10011.2.2.1",
|~ ]|~ | —code 1.1 | R R DE02.10.098.00
@codeSystemName=""T A4 {5 B 5L H F"
[—]—]--|-value 1..1 | R | Hp,@xsi:type="ST"
|—|—entry M H A H
|--|--|--organizer
[—|-[-|-status-
Code
[-=1=-]--|--compo-
1..1 | R | 4%iH (mmHg)
nent
[--]-]--]—]-Obser- Hod e E . @classCode="0OBS",
vation @moodCode="EVN"
H, @codeSystem="2.16.156.10011.2.2.1",
|||~ |~ || —code 11| R e DE04.10.174.00
@codeSystemName=""T 4 {5 B 5 c H F"
=1l I=val T
1..1 | R | Ht,@xsi:type="PQ", @unit="mmHg
ue
[ E——
1..1 | R | #73kE (mmHg)
nent
[-|-=|--]-]--Obser- HoA e  @classCode="0OBS",
vation @moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
[—=[-—[-—=[-=]--]--code 1.1 | R e DE04.10.176.00
@codeSystemName="T {5 B ICH F"
[ =[] [-]-val- . WD e "
1.1 | R | v, @xsi:type="PQ", @unit="mmHg
ue
|--|--entry IR CCH&H
. H P E  @classCode="0OBS",
|—]--]—Observation
@moodCode="EVN"

10
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Fz 9 (&)

— , " N POINAOE €I
TCE £ R J& H FE PR SR L
TEAR RS
oAk {E
|- |--|--|--code 1..1 | R | @codeSystem="2.16.156.10011.2.2.1", DE04.10.186.00
@codeSystemName=""T A4 {5 B % #E L H F"
[-=[--|-[--value 1.1 | R | i, @xsi:type="PQ", @unit="7T"
[ |--entry k2 (P /min) 4 H
. HoA e i @ classCode="OBS",
|—]--]—-Observation )
@moodCode="EVN"
Hh, @codeSystem="2.16.156.10011.2.2.1",
|||~ | —code 11| R N - DE04.10.118.00
@ codeSystemName=" T4 {5 & 5 ¥ c H %"
[--]--]--|-value 1..1 | R | Hp,@xsi:type="PQ", @unit="¥/min"
|——‘——entry uT”&%ﬁ$(W\/mln)%E
] Ho 48 . @classCode="OBS",
|--]--]--Observation
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
| =]~ |—code 11| R | AR DE04.10.081.00
@codeSystemName=" T4 {5 &5 c H #"
|—]-—1]-]-value 1.1 | R | H,@xsi:type="PQ",@unit="¥/min"
6.4 BE{ERET
6.4.1 BREREHHFEMN
WEA s 255 4% H M BRI 2 10,
F* 10 BRERETHFBMMEK
XHAW FEL 2y B
WA s 0.. % R2 BB A {3 R PR 150 % T L AH S B 1) i 3k
FARYL 0.. % R2 Xof B E BEAE 252 R /B VE & 07 1 TE Al 4 i
W A 2 = s 0.. % R2 X7 A BE AT 2 77 50 T 4 4 3

6.42 BRERETTERAMN
PR s e R AL L& 11

11
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® 1 BEREDTEAR
— " N POPIAORA &
o A Ja 1 SR | LB 5 ik .
JEARIRAF
component PEfE S mHRITE
| —-section
1, @code="11348-0",
@displayName="HISTORY OF PAST ILL-
[--]--code 1..1 | R | NESS",
@codeSystem="2.16.840.1.113883.6.1",
(@ codeSystemName="LOINC"
[ |-—text N
|| —entry WEAEsk % H
H k4 H . @classCode="0OBS",
|—]--]—Observation
@moodCode="EVN"
Hh, @codeSystem="2.16.156.10011.2.2.1",
|||~ | -code 11| R N - DE02.10.099.00
@codeSystemName=""T 4 {5 B 5 ICH 7"
[--|--|--]--value 1.1 | R | H+#,@xsi:type="ST"
|- |--entry TFABEH
H 4 . @classCode="0OBS",
|—]--]-—Observation
@moodCode="EVN"
Hh, @codeSystem="2.16.156.10011.2.2.1",
|||~ | -code 11| R " - DE02.10.061.00
@codeSystemName=" T4 & % #ic H #"
[—]—]-—-]|—value 1.1 | R | Hrr,@xsi:type="ST"
[--|--entry R 2= s 4 B
) H k4 H . @classCode="0OBS",
|--|--|--Observation
@moodCode="EVN"
H i, @codeSystem="2.16.156.10011.2.2.1",
||~ | | —code 1.1 | R R DE02.10.098.00
@codeSystemName=""T {5 B & c HF"
[ |--|--|--value 1.1 | R | Hrf,@xsi:type="ST"
6.5 FHEHIREZT
6.5.1 FRIKREZETEBEHK
FERIR A T AR H A LR 12,
F12 FRAREETEFBEHEK
X HAW® HH 2R Eipay
B R B/ em 1..1 R BHEE A D& E 78 R R B A, TR AN om
i Bl /cm 1..1 R SBE IR A A T R BRACA em
Jig 5 LA A 1.1 R W6 L7 0 28 ) 78 5 5 G B 4R 2R A 1 4
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x 12 (&0
% H AW FEEL AR i ik
Jifr 0 3/ (K /min) 1.1 R BB I LR O30 B U T 3R B4 IR/ min
S AV M 7= 1 0 1 DAl 1.1 R Xof Sk 67 X 7= 15 B0 1 P Al
1 A H42/cm 1.1 R FEIE S DR AR I S L TE BN om
g e B A [ 2 P O T
B A2/ em 1.1 R Fﬁﬂ;ﬁ 5 MEMERIR T Z0EH B A B & P S HE B A I, T
B cm
5 b 220 D A 5 4 BB A o A 2
- . R FEEWQ‘:%, PN S A B A DU R SRR B AL AR A
ik B em
EERL T 1..1 R X 72 U B A R S AR RS I (8] S 1 20 A
B R 1.1 R FEUAE SR BE I T A A R
B HE L 1.1 R FEIAE DT8R KUV B B0 T 20 1
Jifs AR A A 1.1 R el SRR I E A O A
M J5t o7 A 1.1 R T 7 3200 1 4 254005
i A 1..1 R i A= DR S BT BYN
F ARG B 1..1 R K G0 Y A A
5% 1 72 2 b 7 1.1 R i U e S 5 78 2 0 AR
170 SR T 1.1 R PR B T2 A I iR SN B0 B AR
far A 7 A 1.1 R Fre Ay o S o 2R
6.5.2 FRIREEPITEAK
FEHTRE A T T R AL 13,
x®13 FRAREETTEAR
. . POINAORIEIT
A Wt K BT A o
JCAR AT
component FEHIRE A E R E
| --section
H, @code="57073-9",
@displayName="Prenatal events",
|- |--code 1..1 | R
(@codeSystem="2.16.840.1.113883.6.1",
(@ codeSystemName="LOINC"
|~ ~text N
|- |—-entry R (em) 2% H
] Ho 48 . @classCode="OBS",
|--|--|--Observation

@moodCode="EVN"
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%+ 13 (8)

— , " N POF AR €I
TCE £ R J& H FE PR SR L
TEAR RS

oA il 4y i

[ |--|--|-code 1..1 | R | @codeSystem="2.16.156.10011.2.2.1", DE04.10.067.00
@codeSystemName=""T4 {5 B 5 #Ec H %"

|—]--]--]--value 1..1 | R | Hip,@xsi:type="PQ",@unit="cm"

|- |—-entry 5 Bl Cem) 25 H
H PB4 {H . @classCode="0OBS",

|—]--]—-Observation
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",

[=[--1-]--code 1.1 [ R L DE04.10.052.00
@codeSystemName=""T14 {5 B & HEc H %"

[--|--|--]--value 1.1 | R | H,@xsi:type="PQ" @unit="cm"

|- |--entry 7 h A 4% H
Hri 45 8 . @classCode="OBS",

|--|--|--Observation
@moodCode="EVN"
H i, @codeSystem="2.16.156.10011.2.2.1",

||~ |~ | —code LR T | DE05.01.044.00
@codeSystemName=""T A4 {5 B 54 L H F
;H\:EF ,@xsi;type="CD",

[—]—]--|-value 1..1 | R | @codeSystem="2.16.156.10011.2.3.1.106",
@codeSystemName="JJ& 5 (i QL "

[--|--entry .0 % (K /min) 5 H
H 4 H . @classCode="0OBS",

|—]--]—-Observation )
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",

[-=[--1--]--code 1.1 [ R T DE04.10.183.00
@codeSystemName="T {5 B ICH F"

[—]-—1]-]-value 1.1 | R | Hp,@xsi:type="PQ", @unit="¥/min"

|- |--entry S AV X 71 B 19 PR Al 4% B

) Ho 48 . @classCode="OBS",

|--|--|--Observation
@moodCode="EVN"
H, @codeSystem="2.16.156.10011.2.2.1",

[—|—|—|-code 1.1 | R | . . e ., | DE05.10.135.00
@ codeSystemName=""T 4 {5 B £ ¥EC H

[--]--]--|--value 1..1 | R | Hp,@xsi:type="ST"

|——‘f—cntry tﬂﬂi‘ﬁﬁé(cm)%ﬁ

. HoA e i @ classCode="OBS",

|--|--|--Observation )
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",

||~ |~ | —code 1.1 | R | e DE04.10.247.00
@codeSystemName=" T4 {5 &5 c H #"

[—-]--]--]--value 1.1 | R | H¥p,@xsi:type="PQ",@unit="cm"

[--|—-entry BEEEAME (em) 46 H
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%+ 13 (8)

— , " N POF AR €I
TCE £ R J& H FE PR SR L
TEAR RS
, Horh B8 B . @ classCode="OBS",
|--|--|--Observation
@moodCode="EVN"
Hr, @codeSystem="2.16.156.10011.2.2.1",
||~ —code 11| R AR DE04.10.175.00
@codeSystemName=""T 4 {5 B & c H F"
[ |--|--|--value 1.1 | R | Hrf,@xsi:type="PQ",@unit="cm"
|- [—entry A S5 [ 42 (em) 5 H
H 4 . @classCode="OBS",
|--]--]--Observation )
@moodCode="EVN"
H i, @codeSystem="2.16.156.10011.2.2.1",
||~ |--|—code 1.1 | R AR DE04.10.239.00
@codeSystemName=" T4 {5 & 5% c H #"
[—]-]--]--value 1..1 | R | H¥,@xsi:type="PQ",@unit="cm"
|- |—entry CERIRAT JE
H 4 H . @classCode="0OBS",
|—]--]—Observation
@moodCode="EVN"
Hp,@codeSystem="2.16.156.10011.2.2.1",
[—|—|-—|-code 1..1 | R . . DE04.10.245.00
@ codeSystemName=""T 4 {5 B 5 ICH F"
[—]-1]--]-value 1..1 | R | Htp,@xsi:type="ST"
|- [-—-entry HHEE 4 H
. Hrp g E , @classCode="0OBS",
|--|--|--Observation
@moodCode="EVN"
Hd, @codeSystem="2.16.156.10011.2.2.1",
||| | —code 1.1 | R | AR DE04.10.248.00
@codeSystemName=" T4 {5 &5 c H 7"
[--|--|--|--value 1.1 | R | Hr,@xsi:type="ST"
[--|--entry B O &H
H 4l . @classCode="OBS",
|—]--]—-Observation )
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
[—[-—|-]-code 1.1 | R e DE04.10.265.00
@codeSystemName="T {5 B ICH F"
|—]-—1]-]-value 1.1 | R | HH,@xsi:type="ST"
|- |-—-entry G R AR 4% B
) Hrp g {E , @classCode="0OBS",
|--|--|--Observation
@moodCode="EVN"
Hod, @codeSystem="2.16.156.10011.2.2.1",
[—|—]—|-code 1..1 | R e DE05.10.155.00
@codeSystemName=""T {5 B & IC H 7"
Hrp, @xsi:type="CD",
[—-|--|--|--value 1..1 | R | @codeSystem="2.16.156.10011.2.3.1.10",

A BLACS R

(@codeSystemName="
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%+ 13 (8)

— , " N POINAOE €I
TCE £ R J& H FE PR SR L
TEAR RS

|- |—entry e A 4 B
H 4 . @classCode="0OBS",

|—]--]-—-Observation 1.1
@moodCode="EVN"
Hp, @codeSystem="2.16.156.10011.2.2.1",

[—|—]—|-code 1..1 | R o DE04.10.256.00
@codeSystemName=""T 4= {5 & £ #5c H %"
Hrp, @xsi:type="CD",

[—|--[-[-value 1..1 | R | @codeSystem="2.16.156.10011.2.3.2.46" ,
@ codeSystemName= "1 i 7 AL FE"

|- [—entry e E 4 H
H 4 {H . @classCode="OBS",

|--]--]--Observation )
@moodCode="EVN"
H i, @codeSystem="2.16.156.10011.2.2.1",

| =] =]~ | —-code 1.1 | R | e DE04.10.262.00
@codeSystemName=" T4 {5 &5 c H #"

[—]--]--]--value 1.1 | R | Hr,@xsi:type="ST"

|- |-—entry FKIEH A E
H 4 H . @classCode="0OBS",

|—]--]—-Observation
@moodCode="EVN"
Hh,@codeSystem="2.16.156.10011.2.2.1",

[—|—]-—|-code 1..1 | R . . DE04.30.062.00
@codeSystemName=""T 4 {5 B 5 ICH F"

[—-]-1]--]-value 1..1 | R | Htp,@xsi:type="ST"

|- |-—-entry B e e B pn i 45 B

. Hrp g E , @classCode="0OBS",

|--|--|--Observation
@moodCode="EVN"
Hd, @codeSystem="2.16.156.10011.2.2.1",

||| | —code 1.1 | R |7 A DE04.10.257.00
@codeSystemName=" T4 {5 &5 c H 7"

[--|--|--|--value 1.1 | R | Hrf,@xsi:type="BL"

[--|--entry 17} SER % JE|
H 4l . @classCode="0OBS",

|--]--]--Observation )
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",

[—[—|-—-]-code 1.1 | R e DE04.01.123.00
@codeSystemName="T {5 B ICH F"

[—]-—1]-]-value 1.1 | R | Hr,@xsi:type="BL"

|7—‘——en1ry *ﬁﬁ}fﬁfﬁﬁ%%ﬁ

. H A B E, @classCode="OBS",

|--|--|--Observation
@moodCode="EVN"
H, @codeSystem="2.16.156.10011.2.2.1",

|||~ | —code 11| R DE04.50.139.00

@codeSystemName=""T {5 B & IC H 7"
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x® 13 (&)
. POF AR €I
SEH A s A ok B 5 o o
TCHRIRFF
Hp, @xsi:type="CD",
[--|--|--]--value 1..1 | R | @codeSystem="2.16.156.10011.2.3.2.47",
@ codeSystemName= " £ J7 ALK "
6.6 RBITHET
6.6.1 REBIUHKNEDTEBEHK
bR SR H A LR 14,
x4 REUTVNETHFBMWEK
X HAW SR 2R AR
' W AT £ 4 ST A 1 g L A E
e . R XT{T\KQH%O%L1TT TG RE Gl b, Sy A R B b A
[(OREAIET BN
T3 3k B R 43 468 7 = 1.1 R T3 3 B R 43 06 7 SN A R 8 A AR & i A
FEREIC SR H B8 [A] 1.1 R FEREIC SR 58 BB A T 28 AT H I AN 8] 1 58 B i R
PR T 1..1 R R 320N OREEHETTHUN
6.6.2 REBEUXEFITRAMK
BRI FE T TR A NI 15,
15 REHNETTERAR
) PONNAORIEIT
T4 W A |2 B 548 e
TCR A
component ﬂ‘ﬁﬂ‘kﬂ%%*ﬁfﬁ%
| --section
Hd, @code="18776-5",
(@displayName="TREATMENT PLAN",
|--]--code 1..1 | R
@ codeSystem="2.16.840.1.113883.6.1"
(@ codeSystemName="LOINC"
— A
|- [—entry b g R % H
. H A H{E , @classCode="OBS",
|--|--|--Observation
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
[—|—]—|-code 1..1 | R e DE05.10.014.00
@ codeSystemName= " T4 {5 B 54 oc H 51"
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%z 15 (&)

— ” N POPIAORA &
JEF 44 B J& 1 SR PR AR o
JEARIRAF
[--|--|--|--value 1.1 | R | Hrf,@xsi:type="ST"
|- [—entry TR B i 7 X & H
) Hor 48 . @classCode="OBS",

|--]--]--Observation
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",

|~ ]|~ | —code 11| R R DE02.10.011.00
@codeSystemName=" T4 {5 & 5% c H #"

[—]—]--|—value 1.1 | R | HH,@xsi:type="CD"

[—[—entry FERRE S H MR & H
H 48 . @classCode="OBS",

|—]--]—Observation )
@moodCode="EVN"
Hp,@codeSystem="2.16.156.10011.2.2.1",

| =] =]~ | —code 1.1 | R ‘ - DE09.00.053.00
@codeSystemName=""T 4 {5 B 5 ICH F"

[--]--]--|-—-effec-

1.1 | R

tiveTime

[--|--entry R4 & HE
H A4 {H . @classCode="0OBS",

|—]--]—-Observation )
@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",

[-=[--1-]--code 1.1 [ R T DE06.00.190.00
@codeSystemName="T {5 B ICH F"

[—|—|—|-value 1.1 | R | K4 (§@xsi: type="ST"
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Mt F A
(R BT 3
FrEiE R XTI

(? xml version="1.0" encoding = "UTF-8"7)
{(ClinicalDocument xmlns = "urn.hl7-org;v3" xmlns.mif = "urn.hl7-org.v3/mif"
xmlns.xsi = "http.//www.w3.org/2001/XMLSchema-instance"
xsi;schemalocation = "urn;hl7-org.;v3 ..\sdschemas \SDA.xsd")
(realmCode code = "CN"/)
(typeld root = "2.16.840.1.113883.1.3" extension = "POCD_MT000040" /)
(templateld root ="2.16.156.10011.2.1.1.34" /)

- SO KRS )
(id root ="2.16.156.10011.1.1" extension = "RN0O01"/)

{code code = "C0014" codeSysten ="2.16.156.10011.2.4" codeSystemName = " TI A4 {& B JL =2 3 %
HiiAR"/)

(1 —title-)

(title) fFr~id sk (/title)

CU - SCRY L 2B s ] -
(effectiveTime value = "20121024154823" /)

{confidentialityCode code = "N" codeSystem = "2.16.840.1.113883.5.25"
codeSystemName = "Confidentiality" displayName = "1F & iJj[al 4% 25 2% 5" /)
{languageCode code = "zh-CN" /)
(setId/)
(versionNumber/)
(recordTarget typeCode = "RCT" contextControlCode = "OP")
(patientRole classCode = "PAT")

(1 —fEBE -
(id root ="2.16.156.10011.1.12" extension = "XX2011021136"/)

(patient classCode = "PSN" determinerCode = "INSTANCE")

O —BF B MHIE SRR
(id root = "2.16.156.10011.1.3" extension = "420106201101011919"/)

(name) B4 Jjij ( /name)
(age unit ="%" value="29")(/age)

{/patient)
19
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(/patientRole)
(/recordTarget)

(author typeCode = "AUT" contextControlCode = "0P")
(time value = "20110404"/)
(assignedAuthor classCode = "ASSIGNED")
(id root ="2.16.156.10011.1.7" extension = "234234234"/)
(assignedPerson)
(name) Z= £ 4= ( /name)
(/assignedPerson)
(/assignedAuthor)
(/author)

(custodian typeCode = "CST")
(assignedCustodian classCode = "ASSIGNED")
(representedCustodianOrganization classCode = "ORG" determinerCode = "INSTANCE")
(id root = "2.16.156.10011.1.5" extension = "EJF DAEHHEIWE"/>
(name)xx [ % (/name)
(/representedCustodianOrganization)
(/assignedCustodian)

(/custodian)

(authenticator)
(time value = "20121010"/)
(signatureCode/)
(assignedEntity)
(id root = "2.16.156.10011.1.4" extension="[E% A R4E"/)
(code displayName = "= & H" /)
(assignedPerson)
(name) XXX (k44 ) { /name)
(/assignedPerson)
(/assignedEntity)
(/authenticator)

(authenticator)

(time value = "20121010"/)

(signatureCode/)

(assignedEntity)
(id root = "2.16.156.10011.1.4" extension="[E 5 A fi%i5"/)
{code displayName = "5 N\"/)
(assignedPerson)

(name) XXX (#k: 44 ) ( /name)

(/assignedPerson)

20



(/assignedEntity)
(/authenticator)

(participant typeCode = "NOT")

(! Bk HR N\ @classCode: CON, [& & fH , /s M A2 R N )
(associatedEntity classCode = "ECON")

) —-BRARANHETE-
(telecom value = "139-9999-9999" /)

(I —-BRR A
(associatedPerson)
) -4

(name) 7k = ( /name)
(/associatedPerson)
(/associatedEntity)
(/participant)

{relatedDocument typeCode = "RPLC")
(parentDocument )
(id/)
(setId/)
(versionNumber/)
{/parentDocument)

(/relatedDocument)

CU = IR 8 5 s DX 8 B 1) G B )
(componentOf )
(encompassingEncounter)
(effectiveTime/)
(location)
(healthCareFacility)

(serviceProviderOrganization)

(asOrganizationPartOf classCode = "PART")

(1 --HDSD00.09.003 DE01.00.026.00

WS/T 500.14—2016

(wholeOrganization classCode = "ORG" determinerCode = "INSTANCE")
(id root ="2.16.156.10011.1.22" extension="001"/)
(| --HDSD00.09.004 DE01.00.019.00 J%/R5 —)
(asOrganizationPartOf classCode = "PART")

{(wholeOrganization classCode = "ORG"

determinerCode = "INSTANCE" )

(id root = "2.16.156.10011.1.21" extension="001"/)
(! --HDSD00.09.036 DE08.10.026.00 #}=4% —>
(asOrganizationPartOf classCode = "PART")

(wholeOrganization classCode = "ORG"

21
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determinerCode = "INSTANCE" )

(id root = "2.16.156.10011.1.26"/)

(name) #} ZE 44 FK ( /name)
(! --HDSD00.09.005 DE08.10.054.00 J5[X %%

(asOrganizationPartOf classCode = "PART")

{wholeOrganization classCode = "ORG"

determinerCode = "INSTANCE" )

classCode = "PART")

(id root = "2.16.156.10011.1.27" />

(name) ¥ X 44 FK ( /name)
) —-XXX BEBE -

(asOrganizationPartOf

(wholeOrganization

classCode = "ORG" determinerCode = "INSTANCE" )

(id

root ="2.16.156.10011.1.5" extension="001"/)

(name) XXX [&E [ ( /name)
(/wholeOrganization)
(/asOrganizationPartOf)
(/wholeOrganization)

(/asOrganizationPartOf)

(/wholeOrganization)
(/asOrganizationPartOf)
(/wholeOrganization)
(/asOrganizationPartOf)
(/wholeOrganization)
(/asOrganizationPartOf)
(/serviceProviderOrganization)
(/healthCareFacility)
(/location)
{/encompassingEncounter)
(/componentOf)
(component)
(structuredBody)
(1 — BN SR )
{(component)
(section)
(code code = "11450-4" displayName = "Problem list"
codeSystem = "2.16.840.1.113883.6.1" codeSystemName = "LOINC" /)
(text/)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
22
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(code code = "DE06.00.197.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A4 {5 B34 H F" displayName = "5 72 H #AmtE] " /)
(value xsi.type = "TS" value = "20110316"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.01.108.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 2B {= B84 . H F" displayName = "2y "/)
(value xsi.type = "INT" value="3"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE02.10.002.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 45 B 54 Jc H 7" displayName = "y=yk " /)
(value xsi:type = "INT" value="3"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE02.10.051.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " /B {Z B8(#E . H F" displayName ="Kk HZL B "/
(value xsi.type = "TS" value = "20110316"/)
(/observation)
(/entry)
(entry)
(observation classCode = "OBS" moodCode = "EVN")
(code code = "DE06.00.261.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A {Z B IR IC H F" displayName = "Z XA " /)
(value xsi:type = "CD" code = "1" displayName =" H k"
codeSystem ="2.16.156.10011.2.3.2.44" codeSystemName = "2 22 (L " />
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE05.10.098.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A {Z B¥#E 6 H " displayName = "Hip=H# " />
(value xsi.type = "TS" value="20110316"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
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(code code = "DE04.10.013.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A4 {5 B34 H F" displayName = "P=gifa & FrE " /)
(value xsi.type = "BL" value = "false"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE05.10.161.00" codeSysteH1= "2.16.156.10011.2.2.1"
codeSystemName = " (= B ¥(4E 0 H " displayName = "= {ife & W IE L "/
(value xsi.type = "ST") A (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE05.10.070.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " LA {5 B4 #li ot H " displayName = "L AR YR FFIR GO " /)
(value xsi:type = "ST") WA (/value)
(/observation)
(/entry)
(/section)
(/component)
U — AR AR 1T
(component)
(section)
(code code = "8716-3" displayName = "VITAL SIGNS"
codeSystem = "2.16.840.1.113883.6.1" codeSystemName = "LOINC"/)
(text/)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.188.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " /{5 B ¥{E 0 H " displayName = "2 {j{&THE (kg) "/)
(value xsi.type = "PQ" value="60" unit = "kg"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.167.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A {Z B%#E 6 H " displayName = "& & (cm) "/)
(value xsi:type = "PQ" value="160" unit="cn"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
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(code code = "DE04.10.188.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " TV A= {5 A 4R JC H #" displayName = "P=Ri{k & (kg) "/
(value xsi:type = "PQ" value ="60" unit = "kg" />
(/observation)

(/entry)

(entry)
(organizer classCode = "BATTERY" moodCode = "EVN")
(statusCode/)
(component)
(observation classCode = "OBS" moodCode = "EVN")
{code code = "DE04.10.174.00"
codeSystem = "2.16.156.10011.2.2.1" codeSystemName = " [ 4 {5 B8 #5 JC H 5" displayName = " i 45
E" />
(value xsi;type = "PQ" value="120" unit = "mmHg" /)
{/observation)
(/component)
(component)
(observation classCode = "OBS" moodCode = "EVN")
{code code = "DE04.10.176.00"
codeSystem = "2.16.156.10011.2.2.1" codeSystemName = " 4 {5 B ¥ #i Cc H %" displayName = "4£F 7K
E" />
(value xsi.type = "PQ" value="60" unit = "mnmHg" /)
{/observation)
(/component)
{/organizer)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.186.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " /1= B ¥dE 0 H #" displayName = "{&RJE(C) "/)
(value xsi.type = "PQ" value="37" unit="C"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.118.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A {Z B##E 56 H 5" displayName = "Jjk & (X /min) "/)
(value xsi.type = "PQ" value="60" unit ="y /min"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
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(code code = "DE04.10.081.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 45 B 5(#EJCc H F" displayName = "IEIE 4 R (YK /min) "/)
(value xsi.type = "PQ" value="60" unit = "y /min"/)
(/observation)
(/entry)
(/section)

{/component)

(- BRfEs -
(component)
(section)

(code code = "11348-0" displayName = "HISTORY OF PAST ILLNESS"
codeSystem = "2.16.840.1.113883.6.1" codeSystemName = "LOINC" /)
(text/)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE02.10.099.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A4 {5 B84 JC H 7" displayName = "BEfEs "/
(value xsi:type = "ST") WA (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE02.10.061.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " /(= B840 H " displayName = "F AR5 "/
(value xsi:type = "ST") A (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE02.10.098.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A {Z B¥IE 56 H " displayName = "REA 2275~ " /)
(value xsi:type = "ST") WA (/value)
(/observation)
(/entry)
(/section)

{/component)

(L — PRI A BT )
(component)
(section)
(code code = "57073-9" displayName = "Prenatal events"
codeSystem = "2.16.840.1.113883.6.1" codeSystemName = "LOINC" /)
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(text/)
(entry)
{observation classCode = "0OBS" moodCode = "EVN")
(code code = "DE04.10.067.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " [ {Z B ¥4 0 H " displayName = "= JE & B (cm) " /)
(value xsi.type = "PQ" value="60" unit ="cm"/)
(/observation)
(/entry)
(entry)
(observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.052.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 45 B 5(#E I H " displayName = "j§ [F (cm) " /)
(value xsi;type = "PQ" value="60" unit ="cn"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE05.01.044.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " T34 {5 S84 o H %" displayName = "J§ 5 (L% "/
(value xsi.: type = "CD" code =" 01" displayName =" IF & "
codeSystem = "2.16.156.10011.2.3.1.106" codeSystemName = " (VI FK" />
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.183.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 415 B ¥4 0 H " displayName = "J§.00 8 (X /min) "/)
(value xsi.type = "PQ" value ="60" unit = "% /min"/)
(/observation)
(/entry)
(entry)
(observation classCode = "OBS" moodCode = "EVN")
(code code = "DE05.10.135.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " I A= {5 B4 #li o0 H " displayName = " Sk {3k ™ 1 DL A PFAL /)
(value xsi:type = "ST") WA (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.247.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 4= {5 B ¥4 0 H " displayName = " H} [ 4% (cm) " /)
(value xsi.type = "PQ" value="60" unit ="cm"/)
(/observation)
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(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.175.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 415 B ¥4E 0 H " displayName = "#{HE4ME (em) " /)
(value xsi.type = "PQ" value="60" unit ="cm"/)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.239.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " [/ {= B E(4EC H " displayName = "4 & 4575 B8] 42 (cm) " /)
(value xsi.type = "PQ" value ="60" unit ="cm"/)
(/observation)
(/entry)
(entry)
(observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.245.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A4 {5 B 4B 0 H " displayName = "= 45500 " /)
(value xsi:type = "ST") XA (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.248.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " /{5 B840 H " displayName = "5 FiJER " /)
(value xsi.type = "ST") XA (/value)
(/observation)
(/entry)
(entry)
(observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.265.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " {5 B ¥dE 0 H " displayName = "= {540 " /)
(value xsi:type = "ST") WA (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE05.10.155.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " /{5 B E(#E L H F" displayName = "JAIEEHLACHS " /)
(value xsi.type = "CD" code = "1" displayName = " %"
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codeSystem = "2.16.156.10011.2.3.1.10" codeSystemName = " Ji§ [ 5 A 2" /)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.256.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " /E {5 B EIE L H " displayName = "l & 7 L6 " /)
(value xsi.type = "CD" code = "1" displayName =" [ #k"
codeSystem = "2.16.156.10011.2.3.2.46" codeSystemName = "# i 7 AL %"/
(/observation)
(/entry)
(entry)
(observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.262.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 45 B 4({E 0 H " displayName = "Je @B & "/)
(value xsi.type = "ST") XA (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.30.062.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 4= {5 B 8B 0 H " displayName = "2 K 50 " /)
(value xsi.type = "ST") A (/value)
(/observation)
(/entry)
(entry)
(observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.10.257.00" codeSystenlz "2.16.156.10011.2.2.1"
codeSystemName = " A5 B IE 0 H " displayName = "t e & tnd "/
(value xsi.type = "BL" value ="' false"/>
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE04.01.123.00" codeSysten1= "2.16.156.10011.2.2.1"
codeSystemName = " 415 B ¥(4E 0 H F" displayName = " K S ArE "
(value xsi:type = "BL" value=="false"/>
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
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(code code = "DE04.50.139.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " 4 {5 B 4(#EJC H F" displayName = "#5 27 JF S 4CHS " /)
(value xsi:type = "CD" code = "1" displayName = "[f il {5 &
codeSystem = "2.16.156.10011.2.3.2.47" codeSystemName = "# 7 5y R ALHLE" /)
(/observation)
(/entry)
(/section)

{/component)

(U — 4b i oy —-)
(component)
(section)
(code code = "18776-5" displayName = "TREATMENT PLAN"
codeSystem = "2.16.840.1.113883.6.1" codeSystemName = "LOINC"/)
(text/)
(entry)
(observation classCode = "OBS" moodCode = "EVN")
(code code = "DE05.10.014.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A4 {5 B 4B 0 H " displayName = "4bE %1 " /)
(value xsi:type = "ST") XA (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE02.10.011.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystenName = " TLA4: {5 B 445 T H 5" displayName = "33 g By 43 6 05 X " /)
(value xsi.type = "CD" code = "01" displayName =" E %"
codeSystem = "2.16.156.10011.2.3.1.10" codeSystemName = " 434t 7 AL FE" />
(/observation)
(/entry)
(entry)
{observation classCode = "OBS" moodCode = "EVN")
(code code = "DE09.00.053.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystenName = " TL4: {5 B ¥#li oc H " displayName = "/ 5% H W] "/)
(value xsi.type ="TS" value="20110316"/)
(/observation)
(/entry)
(entry)
(observation classCode = "OBS" moodCode = "EVN")
(code code = "DE06.00.190.00" codeSystem = "2.16.156.10011.2.2.1"

codeSystemName = " A4 {5 B 4B 0 H " displayName = "p=f2 &4 " /)
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(value xsi:type = "ST") WA (/value)
(/observation)
(/entry)
(/section)
{/component )
(/structuredBody)
(/component )

(/ClinicalDocument)
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